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Why do I need it — 55 b

OVERVIEW

The X713 stated that the word %3 (in "3 ywd 127 %2 9V) is not to be treated as a 99>
(5921 v1oY), but rather as a 2™ to include even Xnv 713. The reason it is to be
treated as a ™12°1 and not as a 9% for if the intention is to use it as a "1, the 77N
could have written all the 2095 (of An%wY AW AR W) by the first ™MD in this
P109 where it states WY %95 IR 702 1Y PR WX 11° °2 (and include with the 70>
0°721 also %W AW N W), this proves that the phrase of ¥ywo 127 93 ¥ is meant
to be interpreted as a ™12°7 (and 121 M MW are 2°VWN [but not 2°VID]).

mooIn concludes the question of the X 13; why is it necessary -
- NN N2 DD 1990 ¥ IND NONX NIPINNK XD andnd 91nnb

To be repetitious and write another (2921 v197) 2; rather we understand from

this repetition that ®> is a 1291 to include everything even an Xnu 1.
- 2wy 999 NINT NP P29 (‘NNWN XD NI 99) NIWD PIDRT INND 29

According to what the X3 concluded now (that »> is a 1299, so now) we derive

from this P22 both regarding ;7312w 993 that they apply by all items (including X 71),
except for NLWY 72y MYPIP (and wWIPA).

mooIn asks:
=049 2N 99 XN AN9T Y NNY 9INN ON)

And if you will say; why do I need the 7770 to write all these details (of "1 ) -
- *599) 19991 5951 NN 19N HVYVHRN 937 1YY NI DI NIN 21NV NY

The 770 should not write any v19 except 193, and from that we will derive
through a 5"19%5 that the 7921 7312w 217 is only by a 1% 1913 bubun 927!

! Others delete the phrase in the parenthesis.
2 See mypp XY 7"7 2,20 Mmoon [TIE footnote # 3 & 12]. One might have assumed that the 3"1912 of (Y P109) 1n° "2 is
regarding 712w and the 3™ (or *12°7) of (7 P1OD) YW 127 5 9y is regarding 793. However since the x7n3 argues
that all the o°v79 of 7 P10 could have been mentioned in " P09, this proves that the 3"1913 in " 109 (as well as the
7% in 'm P1oo) apply both to 793 and 1v12w, for otherwise how can the X1n3 state that all the o°v19 of i 1o (which
are regarding 793) should be written in "1 P09 (regarding 1¥12w), for how would we know the exclusions regarding
©93. See [text by] footnote # 8. Therefore it seems that both 795 and 712w can be derived from one 109. The reason
is that since in this w95, both 72w (in 't 7109) and 9> (in 'n [1] ?0d) are mentioned, the 2"191> in either P09 is
referring to 7312w 992,
? mooIn seemingly means 2°921 403 to the exclusion of 121 Man M. See footnote # 6. See X" that anow would
also be needed to exclude a o on WRWY 727. See (however) 71707 W5 R # 60.
* This would include even an Xnb M (since there is no v of 01 *»>¥2) and we would not even require the 127 of 9>.
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mMooIN anticipates a possible answer:
- 51’ﬂ\78’N‘l DIYN VYD HHIT YT INN NIY NI )

And if you will say that if the v75 would only be (2°227) 102, I would not expound

it for a 9921 va2Y %93, since (2°921) 03 is required for another w7 -
- o2aw B9 AN (M nnnn 07 0w 3,09 97 YAV 1IPVHTTD

As we expound 2°921 10 in MW NodRH; just as av93 is two, etc.

Mmoo negates this proposed answer:
- TRIYaY 1389 03 nnnn 101 0w 2,1 41 ke xa3) AT Y 19WAT 099 Y93 TN HY XM

For perforce we do expound 2°921 70> for a 5"1912 in 271777 P19 regarding 712w -
= MLV DTAY DY MYPIPN DY PYav) )PNT

That there is no oath by 2373y ,nwpPap MWW, and just as we exclude them from a
5™913 regarding 12w they will also be excluded regarding 995 -
= NN YV TINY 1NANIY MNP NN YN NIW) Y

For the exclusions of 712w %25 are the same, since the X ) stated here, ‘let

him write these 2°%19p of 121 7%m MW there’ by " wx > o -
= AYAYN DINNV MY VNN 21N )5 ON 1NIPANINY Y819 NN 9391

But how would he be able to write these 2°v75 by 1n° °2, for then I would have

excluded 2°8»v new from an oath, since it mentions n"va, but now when they are not
written there by 1n° >3 (only 2°921 103 are written there), D°Xnb MW are included in the Av12w 271 -
- DLYNN AWAYN 19 D) Y9N BLYNH ON THY YY NON

Perforce you must rather say that if you would exclude X»v 77 from %2> (in

the P10 of Ywo 727 %5 %¥) you would exclude them also from 7212w, so there is no
problem by transferring these 2°079 of "M MW to the P09 of 1° ° and indeed exempt them
from 2w, for in any event they are exempted, because ¥ywd 727 93 9v includes 712w as well.

mooIn offers an additional proof that 71X 2571 9531 7y12W:
- Shpraw 33 NYN Y95 233 1nY P99 7N XY ONN INY 239N MN IN I

And furthermore (if you distinguish between 112w 992) if these o°v1o (of MW
7m) would be written there by jn0° °> we would not have expounded it

> It cannot be used for a 2"91 (regarding 993), for it is required for a different w7, Therefore we need the
additional 2°v15 of 121 M MW to teach us the exclusion of 131 Mypap regarding 993.
% The X3 there expounds this P105 of 223 W 703 17Y7 X WK Jn° * regarding the 7¥12w 217 by a 7Iwwa NXPRI A7
that 29w 727 92 AR 21w 927 702 71 0°IW 70D AR 071w 2°%5 77 MAwH 090 W A02 YA OR WX 10 %3 2°n37. Generally this
teaches us that the claim by a p"n2» must be at least two (2°1w) M¥» and the counterclaim must be a 701D MW, W"»y.
This gives credence to what was mentioned in footnote # 3, that 19010 meant 0731 7O>.
7 This (seemingly) indicates that regardless that 2°931 703 are used for the w17 of "21 2w ©°93 7, nevertheless they
can be still utilized for the 3"1913 regarding 7y12W (exempting 131 MyPIp from a 7y12W).
¥ See footnote # 2.
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regarding %55, but rather only regarding 7¥12w; how can the x»3 make such a
statement -
- TRaw) Y9I 32995 INTP 9311 19 NVIWD NN

But rather it is obvious that these two 2’109 (of jn° °> and yw»o 127 %2 %¥) are

referring both to 5> and 712w, The question remains since we see that the X3 in 2717
derives a 3" from (2°927) 7o regarding n¥12w; the same 3™913 would be effective regarding
993, so why are all the other 2°v75 (of 2mM W) necessary at all?!

N1B0IN answers:
- 915 0% 099 N MPAYA 1PYITTIY PIVIIN B9 IN 903 95 Y

And one can say; that indeed 2°> X 182 is required for the 7297 in 7312w noon

that 21w @"%%> 1%, etc. and so it cannot be utilized for a 5913 even regarding 7y -
= 99NRP 9N NI 1IN 199) 099) ’9Y9Y (owy) ANTN P92 NY 1IPWHTT RN

And this which we do expound 2°%> X 702 in 277 P2 for a 2'"91>; that is

stated in manner of, ‘if it would not say’ -
- YYD 9327 D5 HY 99N N 1IN 99905

Meaning if the 7109 of ywp 927 %2 ¥y (with its accompanying 2"1912) would not be

written in the 770, then -
=197 297 NIPN MIOVYHY O7a¥) MYPIP VYN PYNTININ

We would have derived the exclusion of nwwen 297281 mwpap (from 9921 7312Y)

from the 210D of 30 52 (with its 3" of 2°%21 7o) and we would not have expounded the
w7 of 21 27w 220 1 -
= DY D NPY 095 IN GO ND NN YWD 937 U5 DY 3N XNNYWN VAN

However now that yws =27 ®> by (with its accompanying 2°v79) are written so
we exclude "1 mypap from nviawy 995 therefore @92 IR nes is superfluous
(regarding 0°21 1¥12w) so it is utilized instead to teach us 2w @%3 77, etc.

nooIn draws a halachic conclusion:
= 1N 991 DAY Y999 INWIAY N 29y

And according to this which I explained that myawn %22 are all one (they are

derived from the same 2109, so -
— 595 Payy 1) $90 DY 099 NN DAY PIYY 1PYITT 9951 %5

So just as we expound the phrase 0°%5 W 70> regarding m¥12w that 21w 295 5,
etc. the same also applies regarding 99> (that he must steal something worth 703 '2) -

? See end of footnote # 2.

' See footnote # 6. See “Thinking it over’ # 1.

' See mwn n>m whether this refers only to a 233 NIV W or even to a regular 213 as well. See "9 7"72 W MK 1" 7.
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- 595 1999 192 DAY PIYY 192 M1 DINDN IPRY 927 1P0YINT XN 1)
And similarly this which we exclude a 29192 18w 227 (based on the word 771w
in the P09 of Yywd 127 95 9¥), this applies both regarding 7¥12w and regarding

B> that there is no 7912w 211 or Y93 payment by a 0107 1KY 737 -
9991 NIN 9109 209901 11RY 9372 5193 19 Yy YaWIT XIPD 1999N)

And even where he is required to swear by a 2% 18w 927 though a %3
7312w, nevertheless he is exempt from paying »2>.

SUMMARY

The (2°v70 of 2°921 703 in the) P10 of 10° °2 comes to teach us 121 21w 275 1N even
for 993 (but not for a 2"13). The 705 of YWd 127 93 ¥ teaches us that everything
besides 0™0n 1R 727 MV 272y MYPIP is included for H991 7y1aw.

THINKING IT OVER

1. 9010 concludes that the 2°v15 of 2¥%31 703 in the P09 of n° %> come to teach us
31 @°aw @°93 An, but not for a 2"»12."° The X mx explained that 3 is a "2 for if it
were merely a 3", the o079 could have been written by in° °2. However,
according to MooN these 2’015 could not have been written by 10 3, for then we
would not expound 0°921 703 to teach 121 22w 0°%5 nn (but rather utilize them for a
>™915 like the other oW n), therefore the 77N wrote these 0°v1 by ywo 127 %5 Y
to expound them as a "1 (and °31 73 to teach us 121 2°%2 a)!™

2. mooIN explains that the exclusion of a 0°on 1XYW 127 applies to both 995 and
7912w even where he has to swear on account of 7¥12w 123."° However since 29
and 72w are derived from one P09, there is no question in the first place why we
need an additional exclusion for 995 as Moo already explained NMypPaP WY 7"72
v a2

"2 mooin is seemingly asking why is it necessary to say that the exclusion for a 2™on X 727 applies both to 72w
and to 993; once it applies to n1aw it automatically applies to 793 since whenever there is no 72w there is no 992.
Therefore o1 answers that if he has to swear on a 001 XW 1727 on account of a V1AW 193, nevertheless there
still is no 795 (the same applies to 121 MypIp). See NMypIp ¥ 7"7 2,20 M. See “Thinking it over’ #2.
13 See footnote # 10.
* See o"n.
15 See footnote # 11.
1 See x"wmn.
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